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Instructions o Pupils:

Do not open the booklets A andfar B until you are teld to do so.

Foliow all instructions carefully. '

This paper consists of 2 bookiats, A and B.

For guastions 1 to 30 in Booklet A, shade the corract ovais ¢n the Dptica’
Answer Sheet (OAS) provided using a 783 pencil,

5. For questions 31 to 46, give your answers in the spaces given {n the

Booklet B.
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PARTI {60 MARKS)

For each question from 1 to 30, four options dre given, Gne of them is the coviect
answer. Make your choice (1, 2, 3 or 4). Shade the correctoval {1, 2, 2 or 4) on the
Optical Answer Sheat. »

1. Which one of the followmng statements about the mushroont and mould is
- true? ,

{1} They are both fungi.

(2)  They teed on spores.

(3) * They grow on stale bread.
(4)  They grow well in dry piaces

2. Look at the ciagram balow.

Q@ —

=

What does the diagram show™

(M A seed grows.

(2) A seed moves.

(3)  Aseedreproducas.

(4) A seed responds to the surrounding.

3. Which one of ihe following pairs of objacis s made of the sarme tvpe of
roatetial?

(1 Car tyre and s{ap'er

(2) Needle and door Key

(3) Drinking straw and eragar

{4) GQarden spade and handkerchief

(Go on fo ihe next page
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The diagrase below shows an mseact,

Which part of the inse

A
2 B
3 C
4) D

Some fruitz a2 classified into two groups as shown balow.

P Appie Rambutan
! Wateimelon _Mango

Which ong of the following pairs of fruits can be placsd i Groups A and
827

{50 on to the next page)
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Rosyth Schooll Semestral Asszssment 2 Sciences 037 20534
Which one of tha following diagrams helow does not rollow & cycie?
() moring - (2 - NGO
77 sead
_ ¢
- 3 { ’
night afternown ranio mEngo
e Seeding
o : "
3) egy {4 Wl
( //& e \ ) ,«»"&
&
: f’
hird nesting fox chinkan
™ K /
\“w» "’-.N“w.-M,r‘“f
Study the tatie below,
: Animia's
| ‘ E
Grozs’p G Group H
| maoth I cheeken
! mosauio COCKreacn 4
| U | e ~—————————
Based on the table above, how are the amm als grouped?
Group G_ GroupH .
(1) [ Animals with feelers L LAnmESs W "hk‘*d“ tealers |
(2) [ Animals with no wings Animals w :;r\ pair of vw*m_ "
(3) [ Animala with 4-stage lifz ovele | {\z'uimaaj_egv\;ylgi. s G-s1age [fe cyole B
(4) i Animais with c*egmemed boty } Animals withcut sag oo
{Go onwe the next page)
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8. Tha two hivirey thises shown helow are a catermpillar-and a nymph.

?
/
m 7_’"‘4"‘\'/
S QRA T A /76//(‘ [\/
SN //" '\({_/'Z»‘}
i S '9,4,»/&{
o . > 1\
caterplilar nymph \
Inwhatway are tha two living things similar?
(iy  Bothmove about very quickly.
(2 Both eat only leaves of plants.
{73 Botdh have more than' 3 pairs of fegs.
(47 Both grow new skin and shed the o' one.
q. Justin made e fnliowing s ments after ossenving & germinaling seed,

as shown beiow,

Which ong nf the *‘fa!e'mn 5 made is incoriect”

{13 The frstleal grows from the shoot
{Z}  The root grows out before the shoot.
&) The root andd shoot grow in opposite direction.

4)  The'zeed will get:food only when the first leaf appears.

10, Which one of the 1 inliowing statermnents aboct the ife ovale of a plant is

gorresi”

gy The plarit will only make food at the aduil stag=.

2V The sead niseds air, water and fight i germinate.

(%} The seeding will bear flowers befora it bears fruits.

{1} The seed iaves provide food for the geiminaling seed.

1«—-'*» on o the nest ,“q >
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Baby brother cries whenevet the thunderroars.
Which one of the following senses is he respondng t

(1) . Sense of sight
(2) Sense of smell
(3) Sensea of touch
(4)  Sense of heariny

Yan Ling gave the following description of an object.

st is coiourful,

) Ir is round,

s i makes a sound when-itis droppad
ot has oh'up ndges.

How many sanse organs did she use w enable harto qive e

e e ~ A — e

L&

seriptions?
1) Two
2)  Threa
3) Four
4) Five

Which one of tha following is a function of the dinsstive system?

(M It uses dig@srm food to rnake CHSTAY.
(2) i suppoﬂs the Lody by giving it shaps.
(3) it breaks down food into simpler substances.
(4) i carries away carbon dioxide from the body.

Which one. ot the following is removed e arge mtestine 7

(1) Alr

(2) Feod

(8)  Blood
(4)  Water

(GO onto tha
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Tim took s [unch & few hours age. How did the food travel in his body
before # was passec oul?

Stamach - guiet — small intestineg — anus

Guilet — simall intestine — large intestine — stomach

Mouth — stomach - gullet — smail intastine — anus

Mouth — gullel — stomach — small infesting — laige intesting

N

e radradt
- LD
N e g e’

Which one of the folicwing protects our heart and lungs?

1) Skufi

(2)  Spine

(3) Ribcage

{4)  Biood vessals

The diagram below shows the skeleton of an animat.

Which ane of tha foilewing is most likely thie animal?

o

) Goal

{2) Zebra
() Qiraffe
(o Eiophant
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18.  The diagram below shiows the buman skefatal

/"
/A%
vl
)
YRy
.
g L

ue

‘(ﬁ;
i

Which parts of the body allew moverment i only one divaction?

(1) P and Q only
(2) R and S only
(3) P, Qand R enly
(4) P,Q Rand S

19. . Susan walks to schoot averyday,
Which one of the tallowing pairs work logetier to enable har to mova?

) Veins and brain

) Brain and bones

) Muscles and veins
) Bones and mussles

20. Which two actions fisted balow make use of amy and hand musaies?

Talking and winking
Drawing and smiling
Painting and writing
Swimming and breathing

et e e
RO
Mt A e e
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02
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8

2 0 the next page)
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Look at the Tagram below.
A
N
. Y .,
i /"J ~ Meon
i o—
e
e { NN -
A
lij’ /ﬂ“"’\\\\
'i X ~ Green leaf
What one of tha lowing cmectxy reprasents X ang V7
. X _ Y I
" v - 1
(H Oxygen Carbon gioxide |
2y i Water VADGLIT Oxyuen |
L vaeeva R ]
(3\‘ i Carbor ginxide N Ox\_;ger; .‘
- A . - N - Do
(4y | Garbon dioxide | Walter vapour 5

A £
R

apiR

-

preducad by the mango trees was recorded aifter a period of ime . the
bhatow, -
ation ! D 3 F G
'-?z‘m - of - ‘:n
g% }e‘- ? 21 i ARSI boay ;
IJ\V@—LS i ! ! ;
location would the mango trees most tikely produce the greatest

In which
. number of fraits

SN

A
s n”

NN T S
[V Y

ch‘an s-.*mke-: 2ach item in

armed planiad 4
G. The soils at the. e locations were different.

}mango trees in each of fhe four locations, D
The number of flowers

I

= Fand

b
> 2

i3
-

o T

Fii
e

Yrags, Whaoich an

s pencil bos
> of the following items will inost

e

with a magnet in ang direst
1'

\_’Ob

750 on to the next page)
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When two magnels are brought near to each otner, they will move in ihe
directions indicated by the arrows,

What does this tell you about the two magnsts?
(1Y A and C are like poles.

(2) B and C are unitike poles.

(3) Pole B wili be attracted to Pola O,

(4 Pole D will be atlractad to Pale A,

Which pair of obiects listed balow maxe use of magnets o work”
3 -

(1)  tloppy disk and radic
()  dooi knob and mirror
(8)  hole-puncher and compass

(4)  cassette tape and bali-point pan

PR Lo 9o om b gy
(L0 00 e the naxt page)
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For quesiions 26 and 27, refer to the diagram below.

Adalowered 4 bar magnet into a tray of pins and than counted the number of
pins attractea o the magnet.

She did this with tha sama magnet but each time, she used a different part of *he
magnet fo face the tray of pins as she lowered it

Sha then plotted bar resalt in a bar graph, naming the different parts of ihe
magnet, ¥, G R and 5, " :

\ i - e s —
2 !
H — — __.‘_
5 < i
oy ‘
i -
o .
o | -
; s
oy { }
&Y he - !
C oy i
= ;
o8 %
S e oo
N i - -
& -~ = ¢
ha i = v H i
b 4 ;
Z 3 |
¢ §
2 ] !
ey - 1
- »

P Q - R
Parts of magnet

(6]

26.  What was Ada trying 10 4 hd cut about magneis?
) Lintike poles of magnets attract.

) Magnets are strongest at the poles.

} xf‘"*;nei\: are able to repel certain objects.
) Magneiz are able to attract certain objpets.

27, Which of he rolowing 1smost likely a poie of the magnat?
(=Y i
[ =
(2) Q
(3} R
{4y N

\

S0 0N 0 he haxd o)
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Which one of the following cormpass neetiie indicates the corect diraction
when it comes 10 18si?

. K
1 - » ()

/ X
11',&\' ( s ; \ El
/ \
‘\
W e S \.\\_, 4

When Kennard brings Magnet G near Object Y, Onject ¥ moves intha
direction as shown by the arrow in tha aiagram.

O Tabia

s 0
Object Y Magnet G

Object Y moves towards
Magnat G

Which one of therfollowing is most tkelyta be Objzet Y72
(1Y Albook

(2) A penknife

()  Adirxing straw

(4y  Atable tennis bail

-~ - - o1 - S
(S0 o to the aant page)



RBernice ired oimake an eiectromagnet by coiling an electical wire round
an object and connaciing the ends of the wire 10 twe batteries.

However, when she brought the setup near some pins, the objact did not
piclk Lp any pus,

What couid not be *he likely reason for this?

{1y The patisries wars weak.

{2) The objest was made ot iron.

(3)  The number of coils was insufficient,

) The wires wera not connected 10 tha baltaries properhy.

End of Bookiat 4
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PART Il {40 MARKS)

For questions 31.to 438, wiite your answers in this hookieat

31, Inthe table hulow, write down the correct mevemient and home of each animai.

(3 marks)

Animal

Movement

Home

i
1 ||
1 1
; ! !
H i
-s _:
i i
] 1
) H
§ ;
! i
L .
i
E "
2
] !
i )
i i
{ !
f
{
H
i
i
;
i
i .
i
|
!
X
} i
{ !
|
{ .
{ :
{ ;
]
H i
i '
- - —— e i —
5o oo o the next pags)
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32, Wel Ming wag giver an sraser and he carried out some tests on it

Complete the tabie below to show the correct results of the tests. Write “Yeg™
or “No" iin the toxes provided, (2 marks)

— - : .
An eraser Resuit
: R — -
L) s it flexible? i
_ e _
3
M) Does & shetoh? |
o — o - L
(il Is ¥ wateproof? i P
(v Does i bisak when droppes 3
—— { o

»

33, Arranda an 'd Brnina found ativing thx i1 thelr Kitchen, They gave the following

escriphion ot the snimal

i . i !
| It bas sixlegs.
; It does pnot have wings.
: It has a pair of anfennae,
3 ft cats almost anvthing.
it is pale brown i colour.
i It moves very quickly.

(2) Brina said that the living thing was an adult cockroach Amanda

()

oigimed that it was not.
Write down tha 2 sentences which caosaed Amanda to make that claim.
based un the description given (2 marks)

¢
} {
P

fome N - - ok (.

The fiving thing which tha girls found it the kitohens was most probably

alan _ {Imark!

{ GO on 1o the next pa

[
He
[\5]
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MOFT

¢ germinate, Ste planie
Seed X in a plastic cup and Seed Y in a poicetain cuo. She gave, the same
amount of water to both seeds avery day

. Bhe put S mc’ \’ in the refrgerator
and Seed Y under her bed. After a weok. she tound that Seed X did not grow

and Seed Y had developed rocts and sheots.

Karen wanted to find out f a sead needed warmth (o J

2 e g
k |
\ f 1
) i { .
T 1 %. .f
i | % ;'

(a)  Whatdid Karen leam trom he

araxpariment aout germimating seed
warmth? (1 mark)

Pand

(b)  Karer's Qcience taacher told her that her experiman

aat might natbs
accurate. What made the Science teacher say thal? (1 mark)

s iy a———

{ Goonfo the nest page)
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Rayu, who was blindfolded, was given some objects and asked o dentify tha

paper cup and the perfume.

ab  Name the sense organs that will help him to identify the paper cup and
the perfume @ the boxes below. (2 marks)

——— ‘ — .
j i Sense organ that |
¢ Task : e i {
} i will balp him
'; "
‘ [
" COTE psts ;
Bapae ! ; i cup ! §
TR \\ ’\ ' t
H ] H
(S| - §

an

& mf of }
geriumae i
i !
: {
. §
]
b
; Which one is the perfume? ! z

by Raju s etanding alone i a park near a watsr fourtain, He 15 notable to
see the water untain as it is blocked by some 1all bushes. How will he
know which direction to go if he wants (¢ move towards the water
fauniain? {1 mark)

—— e

{ Goonto the next page®
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Al

860 The diagram below shows the digestive systerm of the hiuman hady,

s

(/ ™
Y

A\
\
\ |
, ¢
LL/" f\/ )
TN \
I a
;!M‘.,-w - } ] \:::,_w__w
A N

4
i \
j Uk

J

G

i
€
i
3
{
t

P
Awf'/

..

s b ()

e i i e

X
(\/\ _

i"»,
=
/

1633

1
-
/

oS
—
5

Namsa the gards labélled P, Q, Rand S, (0 marks)

37, White down two functions of our skaleton. {2 marks)

p
1) B - o — )
» ) I

,R
~—
1
(@]
O
.
po2
I,

3
v
bt
")
2
e
3
~—
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The diagram below shows the muscles and bones of the arrm.

CMuacole
v

(&) What happens to Muscle 1 and Muscle 2 when vou band vour arm?

(1 mark)

(b) What type of joint is found in Part G2 (1 markd

{ Go on to the next page)
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Our body has differant systems that paform different functions.

In tha table below,
{a)  Name three body parts (i}, (i) and {16), whith make up tha respratory
system. (3 marks)

(b)  Name the systam which tha heart and bload vessels balong to?
(1 mark)

Respiratory (b}
system

{ Ga on io the naxt page)
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40. Al pariz of a plart must work together to keep it aiive.

(@) Nama the piant parts and the furictions they periom to keen the plant
alive. (2 marks)

f - |
Plani Part Function
; P S — - -
i . / ‘;
. ; ; _ Make fecod for the plant. _ !
. 5 .
iy

§ Rools

i
L e e . . - _

) Name the process by which a green plant makes food, (1 miark)

(@ The diagram below shows 2 (eaves, Leal A and Leaf B,

Based on only what you can see In the diagram, write Jown ane
difference botween the 2 teaves. { #mark)

........

{ Goan fo the next page:
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Jane conducted an experiment using four new macnets of ihe same size and
thickness:
She moved each magnet slowly towards a paper iip in the way shown helow

o the

and measured the distance at which the paper clip was attracted
magnet.

-

o T (R paperalp
\'b‘_j/.—“._..i\.__ ot s i \‘—;-:.I:_: | I

She recorded her result in the nble below.

" Distance at which T
Magnet | __baperclip was attracted (cm)
W | L _5 ~ ]
X ‘ S _

Y ! 10 : _’

i S . |
K ; 3

1§ —t —— e

(&)  Jane put Magnet Z over a flame for about half an hour before the

experiment. Predict the result for Magnet Z. {1 mark)

(b)  Explain your answer in (a). (1 mark}

{ Go onte the naxi page)
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42,  FPeter hang - u‘z{m rant magnets, &, F, G and H {rom .zwet ast tha strength
of the magnals, as shown in the diagram Lelow.

= i . S = -
'. | I | '
| i
! | & T ¢ ~L—, ] e
I ] ’ i T
§ LE ‘ . r"'
i | N _1 H
: - —
3 T
— - e i et NP S S . N, - il i
{)  Based on the result shown above,
i which was the weakest magnel? (%% mxuld
i) which was the strongest maanet? (1% mark)
by Wi Q@M two things that might happen if Magnet B was a powarf!
%net- 2 marks)
0O - }

( Go ontethe next pana)




43.

45,

Rosy SchoolSaience T3 Semestval Assersmeni 2/ 2004

Rachel fiied to remove some rails in a glass jar fitles with oll using & maanet,
s shown in the diagram below.

218 T ) \
“&\ /
~
R
A B
!_.... _ ._.“_4 H \i-,-'i/%/"‘_/
P N
! g
AP =) g TS
Nays ————"lle o dag o s

What does this experimentted you about magnete force and glags?
(1 mark)

For each of the following sfatements, deaide whether tha statement is Troe or
False. Write ‘“True’ or ‘False’ in the bracket for each statement, (2 marks)

(a)  Any oijct can he magne tised by stioking it ceveras oY
times with a magnet in 1ho same draction,

{b) Most magnets havae a south- uee\m pole anct 2 nordh- i

seeking pole.

(¢} Thumbtacks, needins and stapies aa exampies of

I B!
b \ 4
magnetic materials,
(d) fron keepers-are-placed across ends of a pairof { 3

magnets to make the magaetic forces fast icoaer,

(a What are magnets which work using elacriciv also nown as? {7 roark)
\ 4 : J

(by  Lirtany two materials objscts should ba mads of in order for them o be
usad to maka magnets using eectiicity, {1 mark)
() J— B - —

(i) : " R

{ Goon to the rexz nage)

" b ¢ A— —— an
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46, Magnet Fwas brought near Magnet Q, as shown in the diagram below.

- P

i o v 3
IS N D +— | N S>3
2 o i ‘

Magnet P Magnet Q

W I‘i‘:z“. cirestiom {A, B C ot D) would Magnet () feast, hkelv move to

—
=5

) What would the auswer in () tell vou ahout the poles of mmagnets?

e P e a8 P U . Lntia e e R

()  Thadiagram below shows 2 U-shaped magnets, attracted to each
OH‘ .')\I‘

Namie 1 poles of the 2 magnets, Wiite 'N' for North and ‘f_‘ for South
{ Tmark) '

;.,,.-.»._% ‘_’q.,._.m.._._.

st ..-..—_ e e
-~ ...

(S
a /"' - //
NNam— T

End of Bookk“

2
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P-J
N
[w's]
o
[0%]
[V
—
A\
~
rc
Dy
=
=
i.,J
h
or
v
—
-

; o fiag
2y 1 29) 2 SRt ‘
awiin sea

O
'~
NI

i) Yes 1i) No Lii) Ves ) No

-~
g
P
W (@]
tJ
o

a) 1) An adult cockroach has wings,

T

| g

0D
2
3

g

“11) Tt ig pale brown in colfour,
b) nymph

34) a) She learnt that a s22d needg warnth to
gerrinate,

9) 4 . b)Y She used 2 cups of dififerent wuberials,
i0) 4 33) ad i) Skin 41) Xose

11) 4 b) He mast use the sevnse of hearing sz tac
' fountaitn nmakes o souad when there 4is wvarer.

12)

B~

: Gullet

(9
[op}
A

13) 3

: Large diatestine

P
0 : Stomach
R
S

¢ Small intesgstine

16) 3 37) a) It keens our body in shape.

—
~J
~
(O8]
T M
~r

It protects our orguansg.

“y

Yoa) Muscle I will contraci while Museclie 2 w1l
relax,

—
ca
N
N
!
(¢s]

Ik is a hinge oinh.

20) 3 32) a) i) lung ii) Yose 1ii) Wwiadpdipe
’ b) Tirculztory
21) 1 ) o
40)Y i) Leaves ii) Aszorh weater frem Lhe soil.

LX)
22) 3

b} Photesynrhesis.
23) 3 c) Leal A has jagzad =dges but leaf B has

smootnl sdgos

) -
24) 3 41Y &) 2 cm oov ! ocm ooy O cam
25 1 by The magaeti hazs lost ilts magnatism
28) 2 42Y a) i) Magnzt H i1) Magrer 5
26) 2 :

b) 1) T atevact more pins,
27) 2 ii) T at or repal magnet:F
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